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2.5.14 Résoudre les équations suivantes.

a) VT—2z=z2-5

b) z=4++4z-19
Bu“t .

J
\/le"é\‘cﬂnow
X= & \) 3—¢ — 6 -5
J1 =
X =9 Ji-3 = 3-5
. = -9

dotecmuse los avemhelles sdotions, pus Lo

2
< > A \/Q’w‘ﬁ'w @w
st ony
+ X —

(ownvi ent

ne  Cowuimt  pis



b)
I_A
_44(
+«.,H4B
I
— 19

X
/
.
4 X
11

WL
X —+
14

Xrl
2/
)(
r—
b

(X
7
) (X
T
)

— 0

WA

1X —
19



e) VT —2zx—+/b+zx=+44+3z

TR A
J3—21x = JU tyx 4+ N5+ (j :
J-ex = Y3y + oG dS+4x 4 5HX| ~4 x —9
—9 —-6X = QQHJer dSw‘x 7
ey = Y aay (5 +x ()2

14ex+9x = (4 +3)(S +x]

9><2’F6><~t4 = Ix' 4 19x {20
(x5 —f3x —49 =0
(éX»M)(qu/(j

|
O

Vol  x—_4/  (3t+2 = 1+

5= a4/
X = /15 Y\2 (,G\/\\n‘w\m[ ()ZU Z\DRJ ck{wi



